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1D pull distribution
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reg_asym_us_avg RMS (ppm)
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reg_asym_usr (ppb 1D pull distribution

X2 / ndf 51.99/51 M -0.01809 + 0.1386
B po -131.1+190.9 F o

4000 — 16 __ B StdDev  0.9998 + 0.09803

: u __ Underflow 0

2000 — : Overflow 0

: l l I Ll 12:_ X2/ ndf 6.399/7

0 .[ ) I ] I ] ] 1 i Constant 1059 +2.41

: l 1 l 1 ‘ l l ‘ l l ‘ J' ‘ 1 l ]' 1 10_— \ Mean 0.04438 + 0.17046

~2000 8:_ Sigma 0.9274 +0.1721
4000 — o
L
o

:|||||||| | il

0
-8 ) -4 -2 0 2 4 6 8




reg_asym_usr RMS (ppm)
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reg_asym_usl (ppb) 1D pull distribution
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reg_asym_usl RMS (ppm)
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1D pull distribution

reg_asym_us_dd (ppb)
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reg_asym_us_dd RMS (ppm)
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